Do | Have E nough \/cgctablcs/f:ruits?

BKEAKFAsT [ ither ]:ruit or chctablc must be served

Number of C]’]i]C{I‘Cﬂ ages -2 X.25 cups = cups
Number of C]’]i]C{I‘Cﬂ ages 5-18 X .5 cups = cups
Total Fruit/ vcgctablc rcquircd for breakfast cups

LU NCH: Atleast one vcgctablc AND either a fruit or vcgctablc for a total of 2

Number of children ages 1-2 x.125 cups = cups

Number of children ages 3-5 x .25 cups = cups

FRUIT - Number of children ages 6-18 x.25 cups = cups
VEGETABLE.S - Number of childrenages 6-18 ____________x .5 cups = cups
T otal vegetable required for lunch cups

T otal other vegetable fruit required for lunch cups

SNACK Not rcquircd but an option

Number of children ages 1-5 X.5 cups = cups

Numher of children ages 6-18 X .75 cups = cups

Total Fruit/vcgctablc rcciuircc] for snack cups




